G6PD & EfBrN i Edtat &SR K SDI 2 filE

1% LotNo : AE0909N (2016-01-01 ~ 2100-12-31)  Change
Il 2
A EA B .
| iRBREfr:Lab0l4 |
| ‘ Control N Control D
QC Control Lot No. AE0909N AE0909D
BRI Month CUM Month CUM
PRIIR (2020/04) (2019/12/31~2020/04/30) (2020/04) (2019/12/31~2020/04/30)
ZETEEET (N) 8 26 8 | 26
L (Mean) U/gHb 14.8 147 58 | 5.8
ZEFEEHESE (SD) 03 03 02 | 02
T LI (CV) % 2.0 2.0 34 | 3.4
H fZ{E (Target) U/gHb 14.4 14.4 58 | 5.8
432532 (TE) % 6.8 6.2 69 | 6.9
H S 4EEASE (TEa) % 20 20 20 | 20
\ o | >6 59 | 5.9
72 (Bias)% = { [ | BatFH9(E (Mean) - HAE(H (Target) | 1/ HAZ{E (Target) } x 100%
4HER7E (TE, Total Error)% = 3572 (Bias)% + 2 x REFEEAE (CV)
o (Sigma) = (TEa% - 5572 (Bias)%) / RETE F{48 (CV)
H4izt © 2020 04 Cchange 5 ZEHHARI (CUM) : H 2019 12 31 £ 2020 04 30 Change
[TOP]
Control N Kz Control D SDI
~
PaKiii
Lot No.: AE0909N ; fEHAR © 2019-12-31 % 2020-04-30 ; FfZ{H (Target) : 14.4 ; 22T (SD): 0.4 ()
Lot No.: AE0909D ; A BafARS © 2019-12-31 Z 2020-04-30 ; HFE{ (Target) : 5.8 ; EfE#72 (SD): 0.2 (o) H{iz : Lab014
Lab014
+3 5.0,
+2 5.0, - 4 *
o s, | . hd * ° -
. » o =3 - ry = » E . * 8 - » ry
Target «— o R a e 8 .
L L ] L a
-1 5.0, 1=} 8 a8 =3 8 B
o
=2 5,0,
=3 5.0,
Date 12-31 01-03 01-07 01-10 01-14 01-17 01-22 01-28 01-31 03-03 03-06 03-10 03-13 03-17 03-20 03-24 03-27 03-31 04-07 04-10 04-14 04-17 04-21 04-24 04-28 04-30
H%st: 2020 04 Change ; ZEHHAR (CUM): B 2019 12 31 & 2020 04 30 Change
[TOP]
Control N SDI 43 [El
Lot No.: AE0909N ; HERIAR] : 2019-12-31 Z 2020-04-30 ; [F#E{E (Target) : 14.4 ; %3432 (SD) : 0.4 iz : Lab014
Lab014
+3 5.0,
+2 5.0, -* + 4 *
*
+1 5.0, o * * r - . o * Y o * r
Target - * L L] 7 .
L ] L ] L
-1 5,0,
=2 5.0,
=3 5.0,
Date 12-31 01-03 01-07 01-10 01-14 01-17 01-22 01-28 01-31 03-03 03-06 03-10 03-13 03-17 03-20 03-24 03-27 03-31 04-07 04-10 04-14 04-17 04-21 04-24 04-28 04-30

H4izt © 2020 04 Change

s

ZEHHART (CUM) @ H 2019 12 31 £ 2020 04 30 Change

[TOP]



Control D SDI 43 fff &l |

Lot No.: AE0909D ; f@EgHAR] @ 2019-12-31 & 2020-04-30 ; E1Z{H (Target) : 5.8 ; S {THE (SD) : 0.2

E3{i7 : Lab014

Lab014
+3 5.0,

+2 5.D. 8

+1 5.0,

[u]
ju]
o
]

Target & = & &

=1 5.0, =) =) B =]

-2 5,0,

-3 5.D.

Date 12-31 01-03 01-07 01-10 01-14 01-17 01-22 01-28 01-31 03-03 03-06 03-10 03-13 03-17 03-20 03-24 03-27 03-31 04-07 04-10 04-14 04-17 04-21 04-24 04-28 04-30

H4ist © 2020 04 Change ;5 EEHHARI (CUM) @ B 2019 12 31 %&£ 2020 04 30 Change

[TOP]




=B G6PD E &R Wilm ERETER (HER—)

JEHZ LotNo : |AEO909N (2016-01-01 ~ 2100-12-31) v/| Change |

12 Reagent Kit : |3 - Innovation v| Change ‘

BEN#RF—
R&at
izt Bs ¢ [2020 v][oa V]
| | | Control N (Lot No.: AEO909N) (il Control D (Lot No.: AE0909D) |
Reagent
) Kit Target || Mean || n for D CV| TE|[TEa Target | Mean || n for SD CV| TE||TEq
UnitID (U/gHDb)||(U/gHb)||Mean||” " |[(%)||(%)|| (%) (U/gHb)||[(U/gHb)|[Mean||> " ||(%)||(%)||(%)
(Code)L-

[Laboi4 || 3 ][ 144 | 148 | 8 Jo.3]2.0]6.8][20]>6[][ 58 | 5.8 | 8 Jo2][3.4][6.9][20][5.9]
[ Towl [ - [ - 48 [ 8 Jo3l2.0 - - [-J0C - I 58 [ 8 Jo2f34][- ][ - -]

ER7E (Bias)% = { [ | BEHPHME (Mean) - HE{E (Target) | ]/ BEE (Target) } x 100%
fEis= (TE, Total Error)% = $8%% (Bias)% + 2 x BEEHEE(4E (CV)
o (Sigma) = (TEa% - #i72 (Bias)%) / RaMEEHE (CV)

[TOP]

RaT#etR

EELHAR ¢ g |2016 v|[02 V|01 v|ZE [2020 v|[04 v|[30 V|| Change

| | | Control N (Lot No.: AE0909N) (i Control D (Lot No.: AE0909D) |
Reagent
) Kit Target | Mean ||n for D CV| TE ||TEa Target | Mean | n for D CV| TE ||TEa
UnitID (U/gHDb)||[(U/gHb)|Mean||”|[ (%)|| (%) || (%) (U/gHb)||[(U/gHb)|[Mean||> || (%) || (%) || (%)
(Code)

[Laboo4 | 3 [ 144 ] 144 | 20 Jo3|[2.1][42][20]>6][][ 5.8 ] 5.6 ][ 20 Jo.2][3.6][10.6][ 20 ]4.6]

[Labo13 [ 3 | 145 ][ 142 [ 86 Jo3[2.1][e.3][20]>6][ 5.7 ][ 55 | 86 Jjo-2|[3.6][t0.8][20][4.6]
[Laboi4 |3 [ 144 ] 147 202 Jo3]2.0] 62][20][>6][][ 5.8 ] 5.8 ][202 Jo2]3.4][6.9][20][5.9]
[Labote | 3 [ 144 ] 140 [ 65 Jp4t7a37a][20 ][Lo][][ 5.8 ][ 63 ][ 65 |2.4]38-1][s4.8][ 20 ][0.3]
[Labo44 || 3 | 144 | 153 J125]o.g[3.9]14.1[20 3.3 5.8 ] 5.8 ][125]o2][3.4]6.9] 20 |5.9]

[ Towl [ - [ - 147 Jaosfuafzsif- [- - - I s8 [4o8oofiss[ - - [-]

EE (Bias)% = { [ | BEFFH9ME (Mean) - HFE{H (Target) | 1/ B (Target) } x 100%
&HaR7= (TE, Total Error)% = 272 (Bias)% + 2 x BETMEEREAE (CV)
o (Sigma) = (TEa% - 5872 (Bias)%) / RETEER(REL (CV)
[TOP]
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Reagent Kit Code
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HinEREAr G6PD E Bk Wl EREHER (BRT)

32 LotNo : | AEO909N (2016-01-01 ~ 2100-12-31) v| Change |

312 Reagent Kit : |3 - Innovation v Change |

SIENHER—

Control N 45T BEt4tat 2 th
B

Control N (Lot No.: AE0909N)
M onth (2020/04) CUM (2016/02/01~2020/04/30)

Uni m Reagent Kit Target || Mean || n for SD CV| TE || TEa - Target | Mean | n for SD CV | TE ||TEa -
nitlD (COde) (U/gHb) || (U/gHb) || Mean||>" | %)| (%) || (%) (U/gHb) || (U/gHb) || Mean @) || %) || (%)
Lab004 3 14.4 - 0 - - - | 20 |f - 14.4 14.4 20 ||0.3(| 2.1 || 4.2 || 20 ||>6
Lab013 3 14.5 - 0 - - - |l 20 | - 14.5 14.2 86 ([0.3]] 2.1 | 6.3 || 20 ||>6
Lab014 3 14.4 14.8 8 |/0.3]/2.0] 6.8 20 (|>6 14.4 14.7 202 ({0.3]] 2.0 6.2 || 20 ||>6
Lab016 3 14.4 - 0 - - - | 20 |f - 14.4 14.0 65 ||2.4|17.1)|37.1] 20 ||1.0
Lab044 3 14.4 - 0 - - - [ 20 | - 14.4 15.3 125 [[0.6] 3.9 || 14.1|| 20 |[3.5
Total - - 14.8 8 |[0.3]|2.0( - - - 14.7 498 ||1.1)| 7.5 | - - -

32 (Bias)% = { [ | BHPE5{E (Mean) - EFE{E (Target) | ]/ EFE{E (Target) } x 100%

#EEA= (TE, Total Error)% = §RZE (Bias)% + 2 x RETERMAE (CV)
o (Sigma) = (TEa% - g2z= (Bias)%) / Rt ERAR (CV)

Fégist ¢ [2020 V][04 v Change | bR (CUM) : [ (2016 v|[02 v][01 v| 7 [2020 V][04 v][30 V]| Change
[TOP]
Control D H#taTBa Batéiat 2Lk
B
Control D (Lot No.: AE0909D)
M onth (2020/04) CUM (2016/02/01~2020/04/30)
Uni E Reagent Kit Target | Mean | nfor SD CV|| TE || TEa - Target || Mean || n for D CV || TE | TEa -
nitID (Code) (U/gHDb) || (U/gHDb) || Mean (%) |[ (%) |[ (%) (U/gHb) || (U/gHb) || Mean (%) || (%) || (%)
Lab004 3 5.8 - o [[-1 - - 20| - 5.8 5.6 20 1/0.2]| 3.6 ||10.6|[ 20 (/4.6
Lab013 3 57 - o [ -1-1-12T7 - 57 55 86 J[0.2] 3.6 [10.8] 20 [[4.6
Lab014 3 5.8 5.8 8 [o2]3.4]69] 20 5.9 5.8 5.8 202 ([0.2f 3.4 [ 6.9 || 20 ||5.9
Lab016 3 5.8 - o |[-1- - 20| - 5.8 6.3 65 |[2.4][38.1(/84.8|f 20 ||0.3
Lab044 3 5.8 - 0 - - - 20| - 5.8 5.8 125 ([0.2{ 3.4 {| 6.9 || 20 ||5.9
Total - - 5.8 8 110.2]|3.4] - - - - 5.8 498 110.9]15.5] - - -
2 (Bias)% = { [ | REFPISME (Mean) - B (Target) | ]/ BEHE (Target) } x 100%
#EEA= (TE, Total Error)% = §RZE (Bias)% + 2 x RETERMAE (CV)
o (Sigma) = (TEa% - 327 (Bias)%) / RETHEERAE (CV)
Rzt : [2020 v][oav] [ Change |  gmxpgpg (cUM) : i [2026 v][02 v][01 ] z [2020 V][04 v][30 V]| Change |
[TOP]
Reagent Kit R(e:e(\) %e:t
Innovation 3
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